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Chapter 5 Discussion & Review Questions
Cite two reasons why astronomers are continually building larger and larger telescopes. 

Large telescopes can gather and focus more radiation than can their smaller counterparts, allowing astronomers    to study fainter objects and to obtain more detailed information about bright ones. 

Why do radio telescopes have to be very large? 

Radio telescopes have to be large because the length of a radio wave is large.  Radio waves are the largest and      are a million times longer than light waves.  In order to receive them correctly we need a large collection area so that    diffraction does not have a large affect

How does Earth's atmosphere affect what is seen by an optical telescope? 

       The earth’s atmosphere is about 10 miles high.  In it are many gases and particles which obscure the incoming 

       rays of light.  That’s why we put telescopes in space so they do not have to deal this the disadvantages of the 

       atmosphere.

